04579 M T EEXKE

7= miiEA

M
FHEBERN
WRNFKET,

A

BERZELAE,
REEARITELRE,
BRMEFWELBEE(LLIE,
C BHYIEFRER.

B
FEATRES  BRIEXRHEXRESESIQEES. (AR)
B AT IR KR

PEFWALEKFNEES G L 90° HEMHITRHE , LETH,
£/,

BY CEMEAFWENERRE , THITUMMEENRFIRE,

=N

- E3-

- RITEABHRET
-BIETHEAN TR A

BEETR :
1) 77 1R4¢
2) [E L iE4e
3) LR
4) (LEMZH
5) METE
6 BN ERE
7)LERE

© norelem www.norelem.com



%3 norelem
04579 M5 EERE
® . A
(=)
T B
L
L2
|13 He
] AT =
5 (& 2= 5T
Ej( ©) | <[z %:‘ i 3
I o UH, . |E
L B
S |
14
X ~$ﬂ Il 0% 3
= ¥ ‘:“:_1_ S | 000 =
L2 4y
L3 0% e 49
L5 1 ‘—7\ /_ H4
sl s | i b
i //I/ —]
I\ .
| | AT ©
sl A = )
x| @ @ & \ S 5 3
' U \\E\\\\ Eap
&f o e ]
14 16 ©
S1
L 7)
5
04579-1400 A 100 80 | 60 | 20 | 40 M5 8,6 M5x8 - 40| 33 | 22 | 22 | 22 | 10
04579-0900 A 75 60 | 45 | 15 | 30 M4 6,6 M4x6 - 32|27 | 18 | 18 | 18 8
04579-03001 B | 100 | 80 | 60 | 20 | 40 | M5 86 - M5x6 | 40 | 33 | 22 | 22 | 22 | 10 | 24
04579-02001 B 75 | 60 | 45 | 15 | 30 | M4 6,6 - M4x5 |32 | 27 | 18 | 18 | 18 | 8 | 19
04579-01202 C | 100 | 80 | 60 | 20 | 40 | M5 86 - M5x6 |40 | 33 | 22 | 22 | 22 | 10 | 18
04579-00602 C 75 60 | 45 | 15 | 30 M4 6,6 - M4x5 32| 27 | 18 | 18 | 18 8 14

© norelem www.norelem.com




04579 MAEERE

SW1 T|{7% £FKH S1= KEH BEHE
FH METE kN max. Nm
N
04579-1400 A |69]13]63 26|19 4 - - 24 10 (8 4 - - 14 50
04579-0900 A |52[10|48 20|14 | 3 - - 19 8 |6 3 - - 9 25
04579-03001 B |67| - |63 26|17 | 4 | 67 |80 - - 822 200 - 3 -
04579-02001 B [51] - [48 20|13| 3 | 51,5 |63 - - |6 16 150 - 2 -
04579-01202 C |67 -163 26|17 4| 67 |80 - - 804 50 0,8 1,2 -
04579-00602 C |51 - [48 20|13 3| 51,5 |63 - - |6 03 40 0,8 0,6 -

© norelem www.norelem.com




